N.Sky
Fres
i)

CPID

Gate

Gate

N.Sky
Fres
i)

CPID

Gate

Gate

O =0 =

0.8

0.6

0.4

0.2

0.0
1.0

0.8

0.6

0.4

0.2

0.0

O w0 =

0.8

0.6

0.4

0.2

0.0
1.0

0.8

0.6

0.4

0.2

0.0

Christmas Valley East (no doedm 12

D]

CPID

.z

)

12
o

26
22
183
155
1

Power [dB]
Gate

Gate

I N N R A
T T T T
o

o
o
o
S

0.4 0.6 0.8 1.
Time UT

o

Christmas Valley West (no dddegm 12
| | ! N.Search  N.Sky
D]

CPID

.z

)

12
o

26
22
183
155
1

Power [dB]
Gate

Gate

I N N R A
T T T T
o

o
o
o
S

0.4 0.6 0.8 1.
Time UT

o

o -0~

0.8

0.6

0.4

0.2

0.0
1.0

0.8

0.6

0.4

0.2

0.0

o -0~

0.8

0.6

0.4

0.2

0.0
1.0

0.8

0.6

0.4

0.2

0.0

Fort Hays West (no data)  Beom 11

| ! N.Search

26
22
183
155
1

(48]

Pow

I N N R A
T T T T
o

o
o
o
S

0.4 0.6 0.8 1.
Time UT

o

Fort Hays East (no data)  Beom 11
| | ! N.Search

.z

)

12
o

26
22
183
155
1

(48]

Pow

I N N R A
T T T T
o

o
o
o
S

0.4 0.6 0.8 1.
Time UT

o



Adak East (no data) Beam 11 Blackstone (fitact3) Beam 11 21/Mar/2010
N.Sky :) | | :) N.Search  N.Sky :g:g 3;.,A.,N. v e .
Fre: 1 1
wil o [0 rove S
cPID
1.0 "
08 P 4000~ = M2
] E ez € 24
L 06 M3 300G, iy = M08
2 T C - o " -
8 .4 S & 2000 vl ‘ g
0.4 il = AR z il - | 128
3 o 5 L L T ——" J— s
] E 2 o w—— gy TR
0.2 = B 10003 e A 1 LU it .
0.0 C
1.0 "
] C 4000 - =
3 [P ™
] EE £ 300 = Hso
- E Hr2s o
° 0.6 C o £ ;.:,. 15 &
S 7 E 2 S -5 2
0.4 E H-125% < 2000 3 3
] 3 —2so§ 5 'fﬁog
] u s _
02 C B35 1000 - L = B
0.0 o
0.0 0.6 0.8 1.0 00:00 12:00 16:00 20:00 00:00
Time UT Time UT
Adak West (no data) Beam 11 Wallops Island (no data) Beam 11
wsy o] [o wseoen NSy g ] [o wseown
Fre: 1 1 Fre: 1 1
wiE g [o nove pui] 4] [0 rove
CPID CPID
1.0 - 1.0 "
0.8 = % 0.8 = %
] . ] .
o 067 L) o 067 L)
8 e E R 8 . E Rt
4] C " & 4] C " 8
] o ] B
0.2 C s 0.2 C s
0.0 o 0.0 o
1.0 E 1.0 "
0.8 o S 0.8 o S
] r M2s0 — ] L M2s0
0.6 = s e 0.6 = )
2 7 E £ 2 E
3 ] C o 5 3 ] C °
0.4 - -1257% 0.4 C -125%
] C -250 2 ] C -250
0.2 C H-375 0.2 E §-375
0.0 o 0.0 o
0.0 0.6 0.8 1.0 0.0 0.6 0.8 0
Time UT Time UT
Hokkaido (no data) Beam 07 Hokkaido West (no data) Beam 07
wsy o] [o wseoen NSy g ] [o wseown
Fre: 1 1 Fre: 1 1
wiE g [o nove pui] 4] [0 rove
CPID CPID
1.0 - 1.0 "
0.8 = % 0.8 = %
] . ] .
P = 88 o 067 E e
3 0.4 - g 3 0.4 - b
4] C " & 4] C " 8
] o ] B
0.2 - 3 0.2 C 3
0.0 o 0.0 o
1.0 E 1.0 "
0.8 o S 0.8 o S
] r M2s0 — ] r M2s0 —
06 = s e 06 P
2 7 E £ 2 E
3 ] C o 5 3 ] C °
0.4 - -1257% 0.4 C -125%
] C -250 2 ] C -250
0.2 C H-375 0.2 E §-375
0.0 o 0.0 o
0.0 0.6 0.8 1.0 0.0 0.6 0.8 0
Time UT Time UT




